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AR ONE | BmEs S01BNO52 EREd | FHLRC | Pt 7 PRl IR
SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
: 100kN/m%#x5%| 1.00| 000 ~ 150 122.82 |3m%i#BA 3 -~ - - —|[ 100kN/m%#z%| 1.00[1053 ~ 1552 122.82 |3m%#BZ 5 — ~ — — —
Thilst 1.00| 150 ~ 9.28 10000 | Zhlist | 000 ~ 9.28 | 2.38 12.75 Thilst 1.00 | 500 ~ 1053 100.00 | Zhbist | 500 ~ 1552 | 2.38 12.75
’ 100kN/mi%#8x%| 1.00| 000 ~ 1.85 128.44 |3m%Z#BA 3 -~ - - —|[ 100kN/mi%#8z%| 1.00[1069 ~ 17.17 128.44 |3m%HB2 5 -~ - - -
Zhst 1.00| 185 ~ 963 100.00 | Zhkist | 000 ~ 9.63 | 248 13.25 Fhst 1.00 | 500 ~ 10.69 100.00 | Zh kst | 500 ~ 1717 | 2.48 13.25
3 100kN/m##8%2%| 1.00| 000 ~ 1.88 129.01 |3m%#A3 -~ - - —|[ 100kN/m%#%%| 1.00 |10.73 ~ 17.39 129.01 |3m%#Ai3 — ~ — — —
Fhst 1.00| 188 ~ 967 100.00 | Zhkist | 000 ~ 967 | 249 13.31 Fhst 1.00 | 500 ~ 10.73 100.00 | #h kst | 500 ~ 17.39 | 249 13.31
4 100kN/mi%#8%2%| 100| 000 ~ 182 128.03 |3m%#A 3 -~ - - —|[ 100kN/mM%E#%%| 1.00[1092 ~ 17.35 128.03 |3m%#Ai 5 -~ — — -
Zhst 1.00| 182 ~ 961 100.00 | #hList | 000 ~ 961 | 253 13.56 Fhst 1.00 | 500 ~ 1092 100.00 | #h kst | 500 ~ 17.35| 253 13.56
5 100kN/mi##8%%| 1.00| 000 ~ 1.66 12545 |3m&#Ai3 -~ - - —|[ 100kN/m%#8%%| 1.00 |11.03 ~ 16.75 12545 |3m%#Ai3 -~ — — —
Zh st 1.00| 166 ~ 945 100.00 | Zhkist | 000 ~ 9.45| 256 13.67 Thst 1.00| 500 ~ 11.03 100.00 | #h kst | 500 ~ 16.75 | 2.56 13.67
6 100kN/m##8%25%| 100| 000 ~ 1.66 12538 |3m%#x 3 -~ - - —|[ 100kN/mM%E#%2%| 1.00 |11.15 ~ 16.91 125.38 |3m%#A3 — ~ — — —
Zhst 1.00| 166 ~ 944 100.00 | Zhkist | 000 ~ 944 | 258 13.79 Zhst 100 | 500 ~ 11.15 100.00 | Zh L5t | 500 ~ 16.91 | 258 13.79
. 100kN/mi#%#8%2%| 1.00| 000 ~ 1.72 126.42 |3m%x#A3 -~ - - —|[ 100kN/m%E#%%| 1.00 |[10.56 ~ 16.49 126.42 |3m%E#BA5 -~ — — -
Zhst 1.00| 1.72 ~ 951 100.00 | Zhkist | 000 ~ 951 | 242 12.94 Fhst 1.00| 500 ~ 1056 100.00 | Zh kst | 500 ~ 16.49 | 2.42 12.94
8 100kN/m##8%2%| 1.00| 000 ~ 1.86 128.58 |3m%x#i3 -~ - - —|[ 100kN/m%#%%| 1.00 |1053 ~ 17.26 12858 |3m%#Ai3 — ~ — — —
Fhst 1.00| 186 ~ 964 100.00 | #hkist | 000 ~ 964 | 2.38 1272 Fhst 1.00| 500 ~ 1053 100.00 | #h kst | 500 ~ 17.26 | 2.38 12.72
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Fhst ~ Thilst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
zhns ~ zhs ~ zhnst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thilst ~ Thist ~ Thils ~ Thist ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
zhnLs ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
zhns ~ zhns ~ zns ~ zhs ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzhn st ~ Zzhn st ~ zhn st ~ Zzh st ~
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